RW—M1B XAtk

H29.5.25

RF-B017

B AR att
P i & e i &
1 |RWB-18 TL—A 1
2 |PT1/8 T—NT T 1
3 |¢8%x25 AFY T 1
4 |$10X18 AT T 2
5 o4 A F— LR — ) 2
6 [M5X5 ANATATIED AT (CF5) 2
7 [1A JASO 2025 WS/ 1
8 |¢3 AF— LR — )L 1
9 |M4x5 NA AT IED T (F5) 1
10 [3/16 AF— LR — )L 1
11 |RWB-15 I UH =T N— 1
12 |1A 658 0y 7 1
13 |12 658 Ny 2Ty TV T 1
14 [M5x 14 NA AR B 20
15 |M6X6 NARSIEDRT 1
16
17
18
19
20
21
22
23
24
25
26 [RM-X22C LY — RN L TN (1)
27 [3L-46B L) —Xay 1
28 [RM-22C LY —ZX LT 1
29 [3L-48 LY =X —)L 1
30 |1A S6 WS/ 1
31 |M3X 14 TR 7N AT 1
32 [M3x18 FERA 7R/ T 1
33 [RF3-32 E A N¢el 1
34 |M4Xx 14 NARSTIEDRAT 1
35
36
37 o4 AF— LR —)L
38
39 |3L-17A T =Ry
40 |RF2-03 TT =Ny 7 A
41
42 [KDC1-16 7=y JEfTF Y b 1
43 [KDC1-06 7=y ZRfHRal 1
44 [1A P22A WS/ 1
45 [M4%6 R REVIN Dl NV AR D 2
46
47 |RWB-03 U —7 %0}
48 M6 10 AL/
49 |RWB-23 ARy N—

X EEIXIE S, MLy 5y




RW—M1B XAtk

H29.5.25

RF-B017

B AR att

(SR mhoA IS %% i &
50 |M6X 10 750V y b 2
51 |AP00-12 A B R 1
52 |M6X 10 AR/ 2
53

54 [RWB-01 gy )7 1
55 |RM2-01 T VT 4—F 1
56 | 4 AL 1
57 | 5 IHFHN PES 1
58 |RM2-56 JEAG X 42 1
59 [M6x10 ANARKREZ R b 1
60

61

62 [RWB-24A [ NV 1
63 |RWB-14 [ A 1
64 [1A S22 oy 7 1
65 [M8x 18 RNAAR/L N FEE12.9 1
66 |¢3n7x12 AT E 1
o7 1A G58 (IR + A H29. 5. 10 H1369

1A G55 oy 7 1

68 [RM2-33A oL 1
69 [1A JASO 2053 oy 7 1
70 |T2 JASO 2053 Ny 27TV T 1
71 |1A JASO 1011 oy 7 1
72 |T2 JASO 1011 Ny 27TV T 1
73 |RWB-19C JEAE I 22 2
74 [RWB-19D JEAR X 42 2
75 |1A P18 oy 7 1
76

77 |RWB-13 PV T AARA 1
78 |17 M5 ATy b 1
79 |RM2-06 HeHiF 1
80 [RM2-07 &0 A7 — 1
81 [RM2-31B S 7iER 1
82 |RWB-12 PV T AAKB 1
83 [A2Xx7.8 Fik=m 1
84 [RWB-11 SNNVTHA R 1
85 [RM2-09 AT TN — 1
86 [RM2-34A S E ¢ e WIN 1
87 |RM2-34B Xy Zidh K 1
88 [IRTW-13 AV RN—=FT > R T 1
89

90

91

92

93

94

95

96

X EEIT1IES.

& 131 2 4y




H29.5.25

RW—M1B BafliER REBO17 3/4
B AR att

7 b & e %% i &
97 |RWB-17 RNV NN 1
98

99 [1A 67 WS/ 1
100

101 [M5X 18 ANASAF AR B 4
102 | ¢ 10 X4 BT =74 MNéA 1
103 |AP-0-35A famteia v 1
104 |1A P11 0y 7 1
105 |RWB-05 WAFTZ T 2
106

107

108 |1A P7 0y 7 2
109 |T2 P7 Ny 2Ty TV T 2
110 |M3 X8 NA AR B 8
111 |AP-0-23 PeHiF 2
112 |RWB-02 REidEeel 2
113 |RWB-07 TSIV — 2
114 |RWB-04 TSV —TF 2
115 | ¢ 3 AF— VIR — )L 2
116 |M4 X5 ANATATIED AT (CF5) 2
117 |1A P7 WS 2
118 |T2 P7 Ny 27TV T 2
119 [RWB-19E JEARIE A2 2
120 |M3 X8 NA AT AL b 8
121

122

123

124 |AP-0-23 HeHiF 2
125 |AP-0-26 HEH TR IE 2
126 |RWB-06 PEH ATz 2
127 |1B S10 WS 2
128

129 |RWB-20 T i 1
130

131|609 172 L R=FaTR=—ARTYV 7| 1
132 |RNAO-14X22X 13 |=— KAXRTFT Y 7 1
133 116001 R—=NA_T Y 7 1
134 [RTW-28 FHCH I 0 i 1
135

136

137 |RWB-21 F—H A—H 1
138 |sB9227 FAN— 1
139 |RWB-25 By TV — 2
140 |RWB-19G IR v el 2
141 |RWB-16 T A B 1
142

143 |M3 X5 ANAFAFRL B (2T ) 2
144 |M4 X< 10 NS AL B 12
145 | ¢ 3h7X 12 TR v 3

X EEIXIE S, MLy 5y



RW—M1B XAtk

H29.5.25

RF-B017

4/4
B AR att
7 b & e %% i &
146
147 [RWB-27 a— L RE—X 1 — |ege AT
148 |BSL 1830 Ry F Y — (1) — AR T
149 [UC18YSL3 Fe AR (1) — AR AT
150 |RWB-34 aBay— 1
151 [RF-29 RoFXy v 1
152 |E12 BN b 1
153
154
155
156 |APO0O-11A 7V 7 1
157
158 [#10 FA v 0. 1L
159
160 [RWB-30 R — 1
161 [P8-25 BRL S — )L 1
162 [RF-26 EEY— 1
163
164
165
166
167
168
169
170
RWB-27 E&— X —iH£Edh
(s e e 8% i &
S1 1999054 H—R> 77 (5X6X11.5) 2 (1 ) faAa
S2 (319918 TIvX YT 2

X EEIT1IES.

& 131 2 4y




